Factor each of the following...
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To solve a quadratic equation, you could graph the
corresponding quadratic function OR use the following principle:

Ifab=0,thena=0orb=0

Example 1,
a)Solve x%- 4x+3 =0 b) Graphy = x? - 4x + 3
D\ B
xz_ 4X + 3 :Lé Simple Trinomial

Factor by Inspection

— X

(x - 1)(x/-f3) =0
x-1=0 OR x-3=0
x=1 x=3

The roots are 1 and 3

The x-intercepts of the graph are the same as the roots of the equation.

To solve a quadratic equation, the ftrinomial expression must be
equated to zerolll



Different Ways of Expressing........

What are the roots of...

Determine the zeroes of...

Solve.... -
g {X) = ’XH%
Find the solution set of....
\/\/\_//_,_.

Find the x-intercepts of....




POWERPOINT Examples...

Solve by factoring #1
S

Solve by factoring #2
S







Solve the quadratic equation:  

		  First get one side = 0:   



		  Factor completely:   



		  Set each factor = 0:



		  Solve each equation:  
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Solving Equations by Factoring:

Solve:  

1.  Get one side = 0

		  Factor completely



3.  Set each factor = 0

4.  Solve each equation

5.  Check in original

6.  Solution set
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Solving Equations by Factoring:
Solve: x*-10 = 3x

1. Get one side=0

2
3.
4
5

6.

x> -3x-10=0

—

/S ¥ A
. Factor completely (x —9)({x +2)=0

Set each factor=0 x-5=00R x+2=0

Solution set

. Solve each equation x=5 OR x=-2
. Check in original (57 -10=3(5]7?  (-2)"-10=3(-2)7

25-10=15 ¥ES 4-10=-6YES

{5 -2}



EXAMPLE #2: @e?mine the @ the following. ..

@ y= Sx2-17x—:6®

d- O= S~ |9%=Axt b
O= ‘5><(v:3\"9(\v33
06 (51

X=370 R Sx2:=0
X=3 5x=14
X=2

3



Creating a Quadratic Equation given Two Roots (x-int)

EXAMPLE #3:
Create a quadratic equation that has the following roots...
a) -7&4 b) -5/2 & 2/3

X="1 ok x= % =3 & x=3

X o 3
&F=0  X%=0

X"';:. X-Z =
° 3

(%)(x=+) = 0
X“43x-28=0 G Q(,st(\_\ O

X"-—- 5, -5
X"\'_I/ -G Z ‘3)\ 2_,\ 2 03

-—x Z2-0
6" > G X x4 /5x-70= 0

6 x\Hlx-/o =0

MN’Q st\ G Qg\‘l~

=3 -
> K= ?;
ly=-5 Jve )L
Lx+Se 0 3%-220

Kz‘l**sx 3;-75: 0
OXX #1x- 0=



2. h=HCt-2tE on
h‘-";<é':§_\>*% '....

3 ;

v(i@ :.:\
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u so/d

, ‘x?q#jﬁ .
fa =3y
< ((oop —
<.L9~°°>§<‘H + 1y >_ (a% (60003 ’>

%
Pe-a
< 00 ~ (I
(\‘ :;) +”7-C)30

(@ 12- 054
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)
Cellg = 14 550)

= 750



page 44 & 45: #4 (1st column)
#5
&A}\\'L \)\)Q&\QSJQH; #8

P # st colunn

® Max /i Apphicadios ™ 12

SOLUTIONS...
#4. a) (x+5)(x+1) b) Bx+ 1)(x+2)
c) Bp+4)(p-5) d) (x-2)(x+8)
e) Bx-1)(2x+1) f) Bm-1)(m - 3)
g) (m+16)(m+1) h) (4a-1)(a-9)
#5. a) 2.45 s; reaching a max height of just over 6 m.
b) 4.9s
#8. a) -5and 3 b) -4 and 4
c) -4 d) -1and-1/3
e) 1.268 and 4.732
#9. a) -3 and 2 b) -1 and 2
c) -1/2 and 3 d) 3.5
e) 1/3 and 1/2 f) -2 and 0
g) -4 and 4 h) -1/3

#12. a) any function of the form y = a(x + 3)*
b) any function of the form y = ax* - 4a
¢) any function of the form y = a(x* + 7/2x + 3/2)
d) any function of the form y = a(x* - 15x + 50)
e) any function of the form y = a(x” - 2)

10



Attachments

Q Quadratic Equation started.ppt
Q Solve equations by factoring april 2005.ppt







Solve the quadratic equation:  

		  First get one side = 0:   



		  Factor completely:   



		  Set each factor = 0:



		  Solve each equation:  
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Solving Equations by Factoring:

Solve:  

1.  Get one side = 0

		  Factor completely



3.  Set each factor = 0

4.  Solve each equation

5.  Check in original

6.  Solution set
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